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Anll, Dinesh and Deepak together can complete a work in 40 days. Anil and
Dinesh together can complete the same work in 50 days. In how many days
Deepak alone can complete the same work?

3ffd, fa-=1 81k diue © T 1Y 40 feAT H Th O IR IR qhd &1 31T 3R

[-=1 U 1Y Il H1H B 50 fa-! H GRTHR Jobd © | aldd 3fbdd fdbd- fa-1
3! DT DI YT HR Jahdll 572

a) ) days
b) )0 days
C) )0 days

d) )y days
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The difference between the simple interest and compound interest (interest is
compounded half yearly) on a sum at the rate of 25% per annum for one year

is T 4375. What will be the principal?
Ud ay & Q1T 25% Uid 98 Bl &R I JrYRUI A6 3R dshdla TS (TS 3
dIf¥p U A JINSTd BIdl 8) & dld B 3R 4375 3UY g | HAY- FT GHTI?

a) 280000
b) 35000
C) 30000

d) 75000
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A shopkeeper sells two articles, one of them with a profit of 10% for X 1100

and another with a loss of 10% for X 900. What will be the profit or loss
percent?

0P GPIMER gl qv&gl\ a4l 5, forH 9 %wﬁ 10% & <Y & 1Y 1100 39T W
3R GIRI DI 10% D1 gl & 1Y 900 YT YR a9l g | 1Y T gl Uld=rd o1

SIT?

a) 1000
b) ither profit nor loss

C) % profit

d) % loss
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A bag has X 785 in the denomination of ¥ 2, X 5 and X 10 coins. The coins
are in the ratio of 6 : 9 : 10. How many coins of X 5 are in the bag?

UH a1 HT 2, T53RT10 D {adhl &b AR H 78551 Radh 6:9:10 b
HUId H g1 97T H 2 5 @ fobd Ryab g2
a)
b)
c)

d)
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Three cubes each of sides 7 cm are joined end to end. Find the surface area
of the resulting solid.

dF 99 oot e Yofl 7 Il ¢ ©R 9 8R d@ 9o gu ¢ | Rl 3149

BT gEIT & d JTd Difor |
a) 86 cm?
b) 86 cm
C) 32 cm?

d) 82 cm
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If a 32 year old man is replaced by a new man,then the average age of 42
men increases by 1 year. What is the age of the new man?

H%Qaisz‘oﬂﬂﬂwcm Udh -TU UoY GRI §aGd (a1 Sl 5, df 42 GO Pl
3 Gd 311g 1 99 &g Sildl o | U YSY D Y T 572

a)
b)
c)
d)

24 @ & 2
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If 40% of a number is 105 more than the one-fourth of that number, then what
will be the difference between the number and 35% of the number?

gfe fopxdt T BT 40% 39 T=AT & Ub-dIdTs A 105 39D g, dl W= 3iR
T & 35% did T 3 gIHI?

a) °
b) s
C) 5

d) .
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P alone can complete a work in 16 days and Q alone can complete the same
work in 20 days. P and Q start the work together but Q leaves the work 7
days before the completion of work. In how many days the total work will be
completed?
P 3{dd U BT Bl 16 a1 H U R Gl © 3R Q 3fdbdl 33T HIH &l 20 [l
U QRIT IR Dl gl P 3R Q [HAHR BH YE B © didd Q DHURIBH I 7
[&- Ugd pH ©IS ¢dl o | $d HF fba- oAl H g1 gRM?

a ) vays
b ) days
C) days

d ) days
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Raju purchased glasses at the rate of Rs. 15 per glass and sold them at the
rate of Rs. 12 per glass. On selling 42 glasses, what will be the loss
percentage?

RIS 15 3 Yl I P &R I 9=Y WG 3R 35 12 30 Ufd 9= &l & 3
o1 1| 42 999 &9 WR, g Uid=Id &1 g2

a) 33%
b) =
C) 1%

d) .28%
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Out of 100 articles, 25 articles were sold at 25% profit and the remaining
articles were sold at 25% loss. What will be the total loss percentage?

100 GXG3HT H o, 25 IIG31 Pl 25% b AIH UR o1 74T 3R AY T 31 Bl 25%
@I BT U &1 71| D gl Uid=Id &1 g2

a)
b) 5
c)
d)
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Selling price of first article is Rs. 960 and cost price of second article is Rs.
960. If there is a profit of 20% on first article and loss of 20% on second

article, then, what will be the total loss?

ag ! a¥q D1 fashd e 960 ¥UU & SR g 9¥g BT 9 Hed 960 34 ¢ Afe
ggail a%d UR 20% BT A1H BIdl & 3R ORI 93 R 20% & 8l Bldl ©, dl B

Sli<l &1 11?2
a) s-36
b) s
C) 5. 20

d) 5. 32
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A motorcycle is moving at the speed of 25 km/hour and its speed is increased
by 7 km/hour at the end of each hour. How much time it will take to cover a
distance of 225 km?

U Hiexasiad 25 fdHl/der & 91d I 9d Yol § 3IR Ul Uc & 3id H U]
a1d 7 fhHirher 9¢ Sl o 1 225 [HH! ®f gl a8 B H 3 a1 I8y ATR1?

a) 2
b) hr
C) 2

d) hr
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The ratio of the areas of two triangles is 1 : 2 and the ratio of their bases is 3 :
4. What will be the ratio of their height?

&l YST & &hdl &1 SUId 1 : 2 § a4T 34D HTEURI BT 3-UId 3 : 4 5| IADI
3>d12d] BT 3-Uld T SHI?

a) °°
b) :3
c)

d) s




